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TIME:  2 HOURS
INSTRUCTIONS:  
 Answer Question ONE and any TWO other questions.
Question One (30 Marks)
a)
Enumerate the factors that influence a company’s capital structure.
[10 marks]
b)
Describe the traditional methods of assessing the viability of an investment.


[6 marks]

c)
The books of harterly ltd indicated that:

· The company sold 10000 ordinary shaes at sh. 100 each with a floatation cost of sh. 20 eahc.

· It sold 5000 preference shares at sh. 100 @ sh. 150 each which carry a dividend of 16%.

· It sold 5000, 10% debentures  of sh. 100 @ shs. 80 each

· It sold 10000, sh. 50, 12% debentures with an issue cost of sh.15. 

This company hope to earn a return on the above finance of 18%.
Required:

Compute the cost of ordinary share capital assuming that there will be no retention and that the tax rate is 40%.
[14 marks]

Question Two (20 Marks)
a)
From the books of Zezi ltd, compute:
i. Acid test ratio
[5 marks]

ii. Current ratio
[5 marks]

	
	Shs. ‘000

	Machinery 
	1000

	Debtors 
	3200

	Cash
	1100

	Prepayments 
	400

	Stock 
	1600

	Vehicles
	2500

	Receivables 
	400

	Accruals
	600

	Bank overdraft 
	600

	Creditors 
	800

	Proposed dividends 
	800

	Provision for taxes
	250

	Provision for depreciation 
	1000

	Furniture 
	800


b)
Explain the danger of holding excessive and inadequate working capital.
[10 marks]

Question Three (20 Marks)
a)
ABC ltd intends to raise one million shs. And will pay 10% interest, for use in the following projects.
	Period
	Project (A) 
	Project (B) 

	1
	300000
	600000

	2
	100000
	500000

	3
	400000
	400000

	4
	500000
	300000

	5
	600000
	100000



Required:


Use NPV and PBP to decide on the best project.
[20 marks]

Question Four (20 Marks)
a)
Distinguish the following cting advantages and disadvantages:
· IRR and ARR

[7 marks]

· Ordinary capital and preference capital
[7 marks]

b)
Describe quasi equity.

[6 marks]
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